Twu 17

UnlunrpjnLu

Upwwnnphgh nnipu pGpnedp thwlwgodhg

1. CunhwUunLp wpunwnphsp nnipu ptntp hwywqdhg

w) 3a + 3b; p) 2x - 2y; q) Sa + 10;
n) 14 - 7y; L) 12x + 6y; q) 3a - 9b;
k) Sx + §; n) 4 - 4a; p) 12a - 3;

3a+3b=3(a+h)
14-7y=7(2-y)
5x+5=5(x+1)
2x-2y=2(x-y)
12x+6y6(2x+y)
4-4a=4(1-a)
5a+10=5(a+2)
3a-9b=3(a-3b)
12a-3=3(4a-1)

2. Cunhwuncp wpunwnphsp nnLpu ptptp hwwadhg

w) a + ab; P) X - X; qQ)a+a;
n) 2xy - x°; k) b* - b, qQ) @' + a’'b;

a’+ab=a(a+b)

x2-x=x(x-1)

a+a’=a(1+a)

2xy-x>=x(2y-x°)

b3-b*=b(b*-b)

a*+a’b=a(a®*+a’b)

3. Cunhwuntp wpunwnnhsp nnLpu pbptp thwywadhg
w) ax - bx + cx;
q) 14acx - 21bcy - 7c:
L) 15abx — 98y + 12ab;

ax-bx+cx=x(a-b+c)
14acx-21bcy-7c=7c(2ax-3by)

4. Cunhwuncp wpwnwnnhsp nnLpu pbptp hwywadhg



w)a —-a' +a',
q) @’ + 4ba;
L) Xy = xy + x;
L) =2a’b + 4ab® - 4b’;
a’-a’+a*=a%(1-a+a’
a’+4b*a=a(a’+4b?)
Xy Yy =xy (Y -x+y)
-2a’b+4ab’-4b°=-2b(a*-2ab’*+4b?)
Suwjhu w2uwwnwup
1.CunhwunLp wpwnwnphsp nnpu ptptp thwywaqdhg
¢) 18 + 36x; h) ab + bc; D ax — ay;
hu) 2ab - 6a; 0) 6x + Bxy; ) 12abx + 15a:

18+36x=18(1+2x)

2ab-6a=2a(b-3)

ab+bc=b(a+c)

6x+8xy=2x(3+4y)

ax-ay=a(x-y)

12abx+15a=3a(4bx+5)

2. Cunhwuncp wpunwnphsp nnLpu pGptp hwywadhg
k) X% + y*; n) 4a* - 2a’b; pP) 9x* = 12"

Xy +y'=y?(x*+y)

4a®-2a°b=2a°%2a%-ab)

9x*-12x°y*=3x*(3x>-4y*)

3. Cunhwuntp wpunwnphsp nnLpu pbptpe hwywadhg

p) 8abx - 6acy - 10ak;

n) 63xy - 84y" + 98ay;

q) 20ax — 35bx - 40x°:

8abx-6acy-10ak=2a(4bx-3cy-5k)

63xy-84y°+98ay=7y(9x-12y+14a)

20ax-35bx-40x’=5x(4a-7b-8x)

4. Cunhwuntp wpwnwnphsp nnLpu ptnptp thwywaqdhg



p) X'+ x° —x;

) =Sx'y* = Sx’y;

q) 2a’b - 6ab* + 4a’b’,
n) 16x + 8x° — 4x' + 2x*:

x3+x2-x=x(x2+x-1 )
-5x3y2-5x2y=-5x2y(-xy+1 )
2a’b-6ab*+4a’b®*=2ab(a*-3b%+2ab?)
16x+8x2-4x>+2x*=2x(8+4x-2x>+x°)



